2 AT RE R TT

4 H 3 pix
(x+ 5)(° +4dx+ 5)+ (5x +2)(3x — 6) (4x — 6)(4x* + 2x— 5)— (3x — 6)(3x — 6)
(6x° — 6x+ 1)(5x—2) — 3 x dx + 3 3x+ (3 — x)(4x + 5)(6x + 3)
(% + 20+ 6)(5x— 5)—4 x 5x— 4 (2x° = 3x—6)(x + 6)+ 3 x 4x— 6
6x — (3 + 4x)(x — 5)(6x + 6) (43 — 3)(dx+6) — ¥ —3x+5
x— (6+ 5x)(6x — 4)(6x+ 1) (6x — 6)(5x + 6)(4x + 5)
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Y B

2 AT RE R TT

W44

(x+ 5)(2 +4x + 5) + (5x + 2)(3x — 6)
¥+ 24 +x+ 13

(62 — 6x+ 1)(5x— 2) — 3 x 4x+ 3
30x° — 4257 + 5x + 1

(7 + 2x+6)(5x— 5)— 4 x 5x— 4
S5¢° +5¢ —34

6x — (3 + 4x)(x — 5)(6x + 6)
—24x> + 78x” + 198x + 90

x— (6+ 5x)(6x—4)(6x+ 1)
—180x> — 126x%° + 129x + 24

H #A: DA E

(4x — 6)(4x> + 2x— 5)— (3x — 6)(3x — 6)
16> — 25x% + 4x— 6

3x+ (3 —x)(4x+ 5)(6x+3)
—24x> + 30x” + 114x + 45

(2% = 3x—6)(x+6)+3 x4x— 6
260+ 9 — 12x— 42

(4% = 3)(dx+6) —x* —3x +5
163> + 23x% — 15x— 13

(6x — 6)(5x + 6)(4x + 5)
120x° + 174x” — 114x — 180
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